UG-A-579 BCO-6

U.G. DEGREE EXAMINATION - JUNE 2021
COMMERCE

SECOND YEAR
CORPORATE ACCOUNTING

Time : 3 hours Maximum marks: 75

PART A (3 x 5 =15 Marks)

Answer any THREE questions.

1. What is meant by super profit? How is it computed?

Wleng @EMLILD GTETMTEL GTEIE? <A eTeleumnl SenTdadl L& ng)?
2. What is meant by reduction of share capital?

LITGI() LLPEOSET (HEMMLIL] GTGITMITE) 6T 606 ?
3. Write a short note on Insurance.

fm @Oy euenrs : sTISE.

4, Pass Journal entries for the following transactions :

(a) A company issued 1000, 8% debentures of Rs. 100 each at a premium of 10%,
redeemable at par.

(b) A company issued 1000, 8% debentures of Rs. 100 each at a discount of 5%,
redeemable at a premium of 10%.

Eparamibd eleurhis@psE Wsh GNLICUL(H Lble|smers &ms.

(=) e Blmiob 1000, 8% geiGeurarmibd ep. 100 wdlliyerer s Lgdlrmisamer 10% wpeneriogdle
Qeuafiui(h CQawigy, PawHi9nCs Hmwul Qundng.




(=) e Blmiwid 1000, 8% geuGleuremmibd ep. 100 wllierer sLem LsSHrmigamer 5% se(@nLlg.ulled
Qoueflui(h Qauig), 10% werarngde Hmbuls Qupdng.

5. A Ltd. agrees to takes over B Ltd. on the following terms :

(a) For every 2 shares of B Ltd., A Ltd will issue 3 equity shares. The face value of
shares issues is Rs. 10 per shares. The shares are used at premium of 25%.

(b) For every 9 shares of B Ltd., A Ltd. will
issue 1, 10% preference shares of Rs. 100 each.

(c) Rs. 2 1s paid for every share in B Ltd., the share capital of B Ltd. consists of 90,000
fully paid equity shares of Rs. 10 each.

(d) The 9% debentures worth Rs. 50,000 of
B Ltd. 1s to be settled by issue of 8.5% debentures for
Rs. 55,000 in A Ltd.

(e) The cost of winding up of B Ltd. Rs. 22,500 is to be paid by A Ltd.
Calculate amount of purchase considereation as per AS-14.

A Blmieuard G etreu (HLd BlLBSEETa (Ehd:®E, o Ll
B fimeuensens er(hsg1s Qsmerer eplig Camerdlng :

(=) B flmeuangdle o arer gpeu@eur(p 2 Lki@s@Ens@Gn A Blneuagder 3 g o flepn Lki@Gsamer
QULPTEIGH6U) QeuefludlLiui@id Lk @ saflem WPELIHILTETG) (T uBSHE
eh. 10. @uiumi@ser 25% peananngdler Gouafludlriuhdlermer.

(=) Bflmeuansdledr o crer gpeuGeum(ms 9 LikiGsEndEEL A Himeuarsder 1, 10% eeuGeuremmid ep. 100
PSS L (PeTeniflentd Liki@GSemaT aLpmkiEels).

(@) B flmeuarsdlen geiCeurm umdbEb . 2 Crmésh cuphigeg. B fineiasdear Lk
WpsOTEF (PP Geagslitl L, eeibleurermid en. 10 wpawdliiLjen_wt 90,000 g 2 flento Limki@aer.

() B flmeiagdlen ep. 50,000 wdliyenuw 9% sLer uSHrhsErsarss, A Hlneuasden .
55,000 wdllienLw 8.5% sL_aT LSS TBISEET GULPMEI@&6UF).

(20) Bflneuarsams senears@b Gageurear en. 22,500- A Hlmieuerid culpbi@eug.

AS-14 Lig QETETPSE LHILILIHETS SETdES (H).
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PART B (4 x 15 = 60 Marks)

Answer any FOUR questions.

6. Draft the Balance Sheet of Banking Company.
cumigl hlmeuangdlen @ UL Blaners Gl alamrs.

7. From the following particulars relating to the business of Mr. X, compute the value of
Goodwill on the basis of 3 years purchase of super profits taking of last
4 years. Capital invested Rs. 30,000, market rate of interest on investment 12%, rate of risk
return on capital invested 3%, managerial remuneration of the proprietor if employed elsewhere
Rs. 7,500 p.a. Trading results : 1983 (profit) — Rs. 15,000, 1984 (profit) —
Rs. 18,000, 1985 (loss) — Rs. 2,000 and 1986 (profit) — Rs. 22,000.

. X eremucuilen Bimeuard Gsriurs Garhssiul (Herer ebleurmsmer emeudgl, Qaeam 4 eu@mL
grrefl Blens Qarugder 3 eumL Qamearpse gt uld parodlienus samsdBhis. Apsar psa( eb.
30,000, gl (psarar ey ghens wHGe 12%, apoger epsedlgpsrar @Li Hmiu eaisn 3%,
o flepwwiment GCoublpri@d wemiuiled TGS IqHBSTED Ceramrend cadlub arhiEe p. 7,500,
elwrumr wpige) 1983 (@eoruibd) — em. 15,000, 1984 (@evruib) — em. 18,000, 1985 (pLL1b) — ¢p. 2,000 wpHmib
1986 (@evruid) — em. 22,000.

8. From the following particulars prepare the Fire Insurance Revenue account for 2001 :
Rs.
Claims paid 2,70,000
Legal expenses regarding claims 6,000
Premiums received 7,40,000
Reinsurance premium 50,000
Reinsure claims 2,000
Commission 1,10,000
Reinsurance commin ceded 3,000
Expenses of management 2,10,000
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Provision for unexpired risk on 1.1.2001

Additional reserve on 1.1.2001
Claims unpaid 1.1.2001

Claims unpaid on 31.1.2001

3,30,000
1,40,000
25,000

35,000

Increase the additional reserve on 31.12.2001 by 10% on the net premium. Make provision

for unexpired risk as on 31.12.2001 at 50% on net premium.

2001-1b pahmg Hamer SSETIEL(H euheurs saurdams Spaar elleurhisaflelmbg Swmt Qe :

€.
Qe Carilsans 2,70,000
Carilgens Qgrirumen &L QFae ser 6,000
QubHD (PEHSTLOLD 7,40,000
LN&STUELH (peneod 50,000
wnsTUSC G Carfléms 2,000
sifloy 1,10,000
Quip wosTUS (HésTar sifley 3,000
Guerarentn GFae|geT 2,10,000

sraafurs @ mastar sy (1.1.2001)  3,30,000
S5 sy (1.1.2001) 1,40,000
Qsads Cavaima i Camfldams (1.1.2001) 25,000
Qsads Caseimg w Gamfldems (31.12.2001) 35,000

31.12.2001 e flar pevanogdler g sbhso sriy 10% oifsfsseyb. Hlar wpamarnsder g
50% WigeymT QL TE&TE 681585 (H0FLIS.
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9. Given below are the balance sheet of P Ltd. and
S Ltd. as on 31.3.2005 :

Liabilities P Ltd. SLtd. Assets P Ltd. S Ltd.

Rs. Rs. Rs. Rs.
Equity share Fixed
capital of assets  2,20,000 94,600
Rs. 10 each 1,60,000 60,000 Current
10% pref. assets 80,000 39,400
share capital
of Rs. 100
each — 20,000
General
reserve 92,200 19,600
Other
reserve 7,800 2,500
P& Lal 11,260 7,100
12% Debentures — 5,000
Current
liabilities 28,740 19,800
3,00,000 1,34,000 3,00,000 1,34,000

On 1.4.2005 P Ltd. takes over S Ltd. on the following terms.

(a) P Ltd. will issue 7000 equity shares of Rs. 10 each at par to the equity share holders
of S Litd.

(b) P Ltd. will issue 220, 10% preference shares of Rs. 100 each at par to the preference
shareholders of S Ltd.

(c) The dues of the debenture holders of S Ltd. are to be settled at a premium of 10%.
For this P Ltd. will issue 10% debentures of Rs. 100 each at par.

(d) Liquidation expenses of Rs. 20,000 is to be paid by P Ltd.

(e) The fixed assets of S Ltd. an valued at
Rs. 90,000. The current assets are to be taken at a value of Rs. 39,000.

Show the Balance Sheet of P Ltd. after the take over.
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P fimeuard whmib S Blmeuard ydweupdler 31.3.2005 GCzHuden @mlilblenerd @olliLser

Yemmeu(mLom) :
Qumyiiysdt P figon S fipwon Csrégissdr P fipwon S Hpiwob
gwe fenw Lkig Blanavd
Wps® em. 10 Qersgidser 2,20,000 94,600

Lk @saflen 1,60,000 60,000 By
10% egyfento Qarsgidser 80,000 39,400

Lk (Wpged em. 100

LG sarl e — 20,000
Qurgy smiy 92,200 19,600
Qsr sTiILEET 7,800 2,500
@aorL

BLL &/ 11,260 7,100
12% sL_etr

UGS Triiger — 5,000
BLLIL

Qumrmiiyser 28,740 19,800

3,00,000 1,34,000 3,00,000 1,34,000

emmeumid Hlupsenens@l Ll (h 1.4.2005-6 P fimeuand, S fimeuarsans er(hsgis QareamrLg) :
(o) S fmeuarsdaierer swe flean LBiGsTITsERsE P fineueand gearaienw 7000 g2 fleno
ukiGaamer (geubleurermibd em. 10 wpawllienwig) pawdllibe eupni@Lb.

(=) 3 Bmeuensdaierer (peneyflendy LBIGSTITHERSE P Blneuend seareyentw 220 10%
wereiflento Lini@Gsener (gpeuGlaumemmid em. 100 w&llienwigl) psndliibe aulpmi@Lb.

(@) S flmpeuangdlen sLamussrsaryisaten Ggrens 10% (perarodgil 6 euPBISILIHID. @)Fer
Qurpl® P fimeiand 10% sLer ugdlrmisamer (geaibeurammid ep. 100 wpswdlliemwig)) paearngsdle
GULDMBIG)LD.

(FF) senaliL] Qgeweurer ep. 20,000 P flmieuarssmed aupmisliLi(hib.
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(20) S fneuarsdlen Hlevaws Carsgissear e 90,000 wdbe erHdgs Garareriiib.
<ibHlmeuengdlen pLLiL Qarsgisser ep. 39,000 wlubd er(hdgis damerariiLihib.

elwrumy Qaratpsais@Ld Wn@erer P fimeuensdler @) mLiLblenavd @iliGener swrr Qauiis.
10. Give the journal entries that are passed in the books of the selling company in the case of
absorption.
e Blmiid ellhueerd CawliL@b Qumipg QarhésiiuL Ceuemriquw WpsHEGOILILYdMmETS S(ms.
11. The following particulars relate to a limited company which has gone into voluntary

liquidation. You are required to prepare that liquidation final account allowing for his
remuneration @ 3% on the amount related and 2% on the amount paid for the unsecured creditors.

Share capital issued : 1000 preference shares of Rs. 100 each (fully paid) 20,000 equity
shares of Rs. 10 each (fully paid) 4000 equity shares of Rs. 10 each (Rs. 8 paid). Assets realised Rs.
3,08,000 excluding amount realised sale of securities held by the secure creditors.

Rs.

Secured creditors (security realised

Rs. 54,000) 46,000
Unsecured creditors 2,83,698
Preference creditors 8,000
Debentures having a floating changes

on the assets 1,00,000
Expenses of liquidation amounts to 3,000

A call of Rs. 2 per share on the partly paid equity shares was duty paid except in case of
one shareholder owning 400 shares.

ereupueneu &wsTlidnaE Caarn e sbueaNullen elleuFnigeT QLEW. SMmeLILITET(HEE CFTSIHISHET
Quréswrésiul L Qgrensuid 3%-1b Gearwuwpy sLabCsThEE Qeaqssitupy Csrasuild 2%-0
Qar@ssliul L Seufler @mid sarsdlaner swmt Calis.

uBE wsd QeuafluiiLg : 1000 werayflenn umi@ser eamm . 100 &b (WEpeugid
QeqssL1Qubdpgl). 20,000 swe fenw LBi@sE . 10 6igb (Wpeugb Qeqssi@upng. 4,000 swe faw
uki@ser gern . 10 ais (. 8 CeqssiiulLg)). Wamenrw sLatbCSTT eusH(HE@ED Lemaihismers
ey Demandg QersgIHsEHb . 3,08,000 QrréswnrésiiulL e
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.

enemnu sLabCHTT (L9 6nemTw g

QrraswrasiulLg) ep. 54,000) 46,000
AenewtwHm sLeafbEHTT 2,83,698
weraflenio sLatBGHmT 8,000
sLar LUsSTmiser Hgrggisaatien Goe

@®&EL Wgemal LgTens 1,00,000
sl ILF Q6 |&6T 3,000

@meul emausHma@h 400 LukiGsmers ey Weeperer LEGEH QEassLICLDY LkIGS®eT LIkIE
RAMIEES, 5. 2 eIgD AL QFauss1ELDDG.

12. Under what circumstances a company can be liquidated under court supervision.

oTHS FhSTILmSeND Bamsder CopLmTameiuled e HmLSms SmaESMMLD.

8 UG-A-579



UG-A-580 BCO-7

U.G. DEGREE EXAMINATION - JUNE 2021

COMMERCE
THIRD YEAR
COST ACCOUNTING
Time : 3 Hours Maximum Marks: 75
PART A (3 x 5 =15 Marks)

Answer any THREE questions.

1.

Define cost accounting. What are its basic purposes?

L Gs6llane) Samadlic) — euenTml. SH6T SjlqLliLenl ChTESBISET WTene?

What are the duties and responsibilities of a store keeper?

UGHTL & STULTaTTlen SLenodeT Hmid GummyLliL|&eT wireneu?

What are the features of a good wage system?

fmbg .60l penmudler SpUweLEer wreneu?

From the following information, calculate :

(a) Maximum stock level
(b) Minimum stock level
(c) Reorder level and

(d) Average stock level.

Minimum consumption — 240 units per day
Minimum consumption — 420 units per day
Normal consumption — 300 units per day

Reorder quantity — 3600 units




Reorder period — 10-15 days
Normal reorder period — 12 days
Epsaramib elleurhisamand Qare(h), semsd(Hs :
(=) SHFULE Fr&dl(mHLIL 2leme
()  GoppsaTe) sT&ESBIL 66,
(&) 1y et i6me WHHID
(rF) gyrafl srad(mLy oieTe]
GDDHS 2l6Te| HISTe]| — 240 AOGSET BTET aTMI&HE,
915E e HIFTe| — 420 S GSET BITET 6REMMISHS;.
srerraerons HisTe] — S00 D @GS6ET BT 66mmI&HS).
wn genen Garerarere] — 3600 S @s6T
M penenr &red — 10 — 15 priger
STSTTERTLONS LOM| HENETHTLD — 12 BrL_sei.

The following information obtained from
Priya & Co. for 2010 :

Rs.
Sales 20,000
Variable cost 10,000
Fixed costs 6,000

Find :

(a) P/V ratio

(b) Break even point and

(c) Margin of safety at the current sales level.

Epsaramibd efleurmaser Aflwr & Himwsder. 2010 -&@flwg :

€.
L 20,000
rMLHD Qe Her 10,000
Hlenevd Clsaveser 6,000
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SaTEE (& -

(=) @aoru LipLoe 69&lsLD

(=) @eru L Hm Hlepavlierefl oHmid

(@) BLUIL el HLene SjeTeller LUMGISTLIL| S|6T6).

PART B (4 x 15 = 60 Marks)

Answer any FOUR questions.

6.

Distinguish between financial accounting and cost accounting.

HlEssamssleme L& ellanas searésweledlmbg CoumiLi(hss)s.

What is labour turnover? Explain its causes and effects.

LemflmeTiT &M GTETMTE GTETET? S6 SHMTTERTHISENETLLD, STHSBIGENETI LD 6516TE Es5.

From the following particulars ascertain the amount of profit shown in profit and loss
account by preparing necessary reconciliation statement.

Rs.

(a) Profit shown as per cost books 1,40,000
(b) Depreciation shown excess in cost

books 2,000
(¢) Interest on investment received 1,000
(d) Provision made for Income tax 40,000
(e) Income received for share transfer 150
(f)  Factory overhead under recovered

1n cost books 3,000
(g) Office expenses under recorded in

financial books 1,000

Epsaramid eleurmigmers Qsramp Csemeuwrer efdsl Hb Lliqwame swrm QFig @emu
BLL & SanTédlen QemrLsens sanrddl (hs :

€.
(1) SILSs6lame 6rLig e Lilg @edmLiLd 1,40,000
(=) <Lsselene ol iged Calinmerd

9IFsLILIg eT(gISWg) 2,000
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(@) psSBsar By iy Aubs 1,000
()  eugpren auflEE sriy ghu(BSSwg) 40,000

(20)  URIEG LIHDESSTE 6u(FHLOTETLD
Qupmgl 150

(26r)  emed CoHblFa6 FHeT 2L GH6elame

TLIged GMDSS eT(PSLILILL G 3,000
(1)  euess e ser Bl er(Hsafie

GMDSG| T (LPSHLILILL G 1,000

From the particulars given below write up the stores ledger.

2011
January

1 Opening stock 1000 units at Rs. 26 each
5 Purchased 750 units at Rs. 24.50 each
7 Issued 750 units

10 Purchased 1500 units at Rs. 24 each

12 Issued 1100 units

15 Purchased 1000 units at Rs. 25 each

17 Issued 500 units

18 Issued 300 units

25 Purchased 1500 units at Rs. 26 each

29 Issued 1500 units

Adopt FIFO method of issue and ascertain the value of the closing stock.
Epsaramib efleurmisemand Game(h LaTLssariiy CuCr®H swrlés.

2011
gm@mﬂ

1 Qgrss sradmiy 1000 e @ser gemm
(. 26 aigd

5 Gareripge 500 e@s6r eetm . 24.50
&g
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2011
gaﬂwrﬂ

7 efllssg 750 D@ ser
10 Qsmrarepged 1500 ev@ser e eh. 24 aigid
12 <eflgsg 1100 e@ser
15 Qararepge 1000 ev@ser et eh. 25 aigid
17 =eflgsg 500 oi@s6r
18  =ieflgsg 300 oi@s6r
25 Qamerpse 1500 Sio@ser gemm . 26 eisld
29 sjaflssg 1500 Sje@sar.
<jaflliy FIFO wpeperw Lwearu(hss @md ersdlmliten wdllienu sanrssd(his.

10. Durga Ltd has three departments (A, B, C) and one service department (D). The actual
cost for a period are as follows :

Rs.
Rent 4,000
Repairs 2,400
Depreciation 1,350
Lighting 300
Insurance of stock 1,500
Supervision 4,500
Power 2,700

The following data are also available in respect of the four departments.
Dept. A Dept. B Dept.C Dept. D

Area (sq.ft.) 300 220 180 100
No. of workers 36 24 18 12
Value of plant (Rs.) 24,000 18,000 12,000 6,000
Value of stock (Rs.) 15,000 9,000 6,000 -

Apportion the costs to the various departments on the most equitable method.
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11.

gitar WAL A, B, C eraydb 3 2 pusd giemmaer; e GCsameugienp (D) Csrem@érerg.
GO L sTesSDarear oiL&s allena Lereumeue :

€.
QUTL60S 4,000
LIy 2,400
CaWiomeid 1,350
el 300

F16@ smer sl 1,500
Cupurrenal 4,500

WOlGTE LD 2,700

BTen @ Slanms@hsaren elleurmiser EGp Srliul(Hererg).
sop A gaopB  gopC  gop D

LTIy (587 <iig 56i7) 300 220 180 100
Lieflwrerit oraranléans 36 24 18 12
Quibdy i (e.) 24,000 18,000 12,000 6,000
a7 AL (@) 15,000 9,000 6,000 -

&5@&bS LS ThseaillL pepmuied =i sselenaani LGeum FiennaEhéE LSl Thsert &s.
A product passes through two distinct processes A and B and then to finished stock.
The normal wastage of each process is as follows :

Process A — 3% of inputs and process B — 5% of inputs. Wastage of process A was sold
at Re. 0.50 per unit and that of process B at Rs. 1 per unit. 10,000 units were
introduced into process A at a cost of Rs. 2 per unit.

The other expenses were as follows :

Process A Process B
Rs. Rs.
Sundry materials 2,000 3,000
Wages 10,000 16,000
Other expenses 2,100 2,375
Actual output 9,500 units 9,100 units

Prepare process accounts.
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12.

@ Qumrmer A woHmb B eranb @rawvr(h 2 husSH LigbHlencsamersd sLibgl (plgeybn QUmmeTTs
rmEng). epeubeur(m Lighlepaseflgd ramrenr @LUiL 1GeTelmmm) :

LigBlened A — epaliQummer @)U L dleb 3% hmid
Ligblened B — epeoliQummer @ L _glé 5%

2 puss iy LigHlevey A — 2ADEG Qe
5. 0.50-&@ b LigHlene B—eb i@ ey . 1-&@ el Lg).

10,000 ev@sdr, <i0@E @eam . 2 aisb ugblaw A—d @QLiulig. @sré Cgweajsdr
\Gletreumomm) :

Uighlened A uigbleney B
(- (-
LU epelielummLser 2,000 3,000
& 60l 10,000 16,000
@ sr& Hgewa ser 2,100 2,375

2 GRTENLOWITEN 2 HLISS) 9,500 sjw@sar 9,100 je@ser
UigHlencod SemTé@semer UImiléae] .

From the following information calculate :
(a) Break—even point
(b) Number of units that must be sold to earn a profit of Rs. 60,000 per year.
(¢) Number of units that must be sold to earn a net income of 10% on sales.
Sales price — Rs. 20 per unit
Variable cost — Rs. 14 per unit
Fixed cost — Rs. 79,200
Epsaramib efleurnigemarnd Game(h sauds(H :
(=) @eoru pLLopm HleneLierarfl
(=) <YarHEE @erub er. 60,000 L Coaneuwimer e DHLIEHET {60 @HEET 6T GwTemwt&ens.
(@) eflbuenarudled Blar aupomend 10% rriL Caeneuwimen el HLenem 6@l er orament&ans.
ellhuener allena — ¢h. 20 40 E RETNISHE
rmb QFaweseT — p. 14 i@ QamnisE,
Blenevg Hgawe|ser — . 79,200
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UG-A-310 BCO-11

U.G. DEGREE EXAMINATION - JUNE 2021
COMMERCE
FIRST YEAR
BUSINESS ORGANIZATION

Time: 3 Hours Maximum Marks: 75

PART- A (3 x 5 =15 Marks)
Answer any THREE questions.

1. What are the characteristics of business?
IWITUTT A6 G 601TH FUIBIS6T WTene?
2. How to promote joint stock company in India?
@bHwTelsd gl BUBIE HBInSHme seleuTs CHrmmielig?
3. State how to raise share capital in a company.
U@ (PH0 @ HIBIDHSH0 eeueumm HULLILGSHBSH eailensd GSBILLIBHS.
4, List out the rights of shareholders.
URIGSTITHeMer 2 fenwsensn auflmauBHd)  6T1HIH.
5. What do you mean by business combinations?
CamPBCsFTEme LBM HThiGeT Difleugkl 666 ?

PART -B (4 x 15 = 60 Marks)
Answer any FOUR questions.

6. Give a detailed note on co-operative societies.
gl (bme)y FmhismIGsmen LMK elfleurer @il euenrs.
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10.

11.

12.

Describe the factors to be considered in the selection of form of business
organisation.

usLGauml euemilads iwlEmen BHTHOSBLLSBE uflFevensn Gauiul Geueurgul
BIyemiBeneT aleuf.

What is prospectus? What are its contents?
HBEUVNIHEND  6T6IMBT6V 6160607 DIHET 26T SHHMIG6T WTene?

Distinguish between memorandum of association and articles of

association.
SiMIOLIL (LpenmenUl LOBBILD Fhis B (pedm g HuwiaBemns CaupiBGHHIS.

Examine the Corporate social responsibilities in India
@bHwmeled HBID Feps GQUIBILILSeDeNT UBM FTUIS.

Describe the characteristics and features of Joint Stock Company.
U@ HBInSHem SHell Uswissn oBmid Hpiiiwesoyset umpl eleurl.

Explain the rights and duties of directors.
QuisGBTHeMeT 2 Menodemenud BMBID SHLENOSHMEMUD alendhE®Hs.
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UG-A-310 BCO-11X

U.G. DEGREE EXAMINATION - JUNE 2021
COMMERCE
FIRST YEAR

BUSINESS ORGANISATION

Time: 3 Hours Maximum Marks: 70

PART -A (3 x 3 =9 Marks)
Answer any THREE questions

1. Define Business.

QU BHH T 6UMT 60HHEMID WITH.

2. Who is a Promoter?
O&mfled BmIeUBT eTedTLIeUT WITiT?
3. What do you mean by marked applications?
GBS L o)l 66T ILIMIGRIG6T  6160TBT60  6T63160T 7
4. Explain the term ‘Minutes’.

‘BLoNQBMBE G 6Teim CFTeveney a6 .

5. What do you mean by CSR?

CSR e1651B3m60  6T60T60T?

PART -B (3 x 7= 21 Marks)

Answer any THREE questions

6. Describe the features of Partnership.

Fal_LTenienowledl DDFmisemnen aleaul.
7. Differentiate between Memorandum and Articles of Association.

Siemioli (pempCuiB oBBID Fhis HewL (s g Rewl Bui 2 eiten CeummBaHeit sr6iTenm?
8. Explain the different types of Preference shares.

weiimiflenio LmiGseaien LsOCaumI euendHemen alleufl.

9. How a director of a company is appointed?
QM HBeuasHHlel RUuISGHBT eleueuTm BluwdldbasLBamrT?
10.  Discuss the merits of small scale production.

ol olenellevrss 2 BLIGHSHUTTe0 gBUBLD [HeilenIDEHMeN alleUTHld .
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PART - C (4 x 10 = 40 Marks)

Answer any FOUR questions

11.

12.

13.

14.

15.

16.

17.

Differentiate between partnership and Joint Stock Company.

gl (p LMBISTeRIeND OBBILD gnl (Bl UBIEG BHneled CeumiLm®GoHdis.

What is Memorandum of Association? What are its Contents?

Siemoli (pemBGWIB  6T6IIBTEL 616067 DIHET 2 _61T6NL_SHHID  WTeneu?

List down the advantages and disadvantages of equity shares.

FMHTT60T LIKIGHH6N6N [HeienIDH6T OBBID SHenDEHmeNT L 1Qulsil(hdb.

Discuss the rights & Powers of directors.

Q@ hiTseier 2 Menosell BBID IS BTIHIGM6T  eleuTd).

Explain the different factors determining the size of firm.

R BoelasHHer Senenel Hitewuld@Gd CeusiGeuml Smyenisenen allomdd.

Describe the different types of business combinations.

usLBeuml euemBWITEN euemld BFTHendmemen aleufl.

Define Public utility. Explain the characteristics of public utility.

QUITEHI LILIGITLTL g6 Hlpieuerd euenFWIml. GUTEl LwetUTl (B BImIeuendsd)eil  LIGwTLEHemn6r
Nl61TE & .
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UG-A-311 BCO-12

U.G. DEGREE EXAMINATION - JUNE 2021

COMMERCE
FIRST YEAR
FINANCIAL ACCOUNTING
Time: 3 Hours Maximum Marks : 75
PART- A (83 x 5 =15 Marks)

Answer any THREE questions.

1.  List the attributes of accounting.
ST Wedl e LT s6T UL 19UT(BHsb.

2. From the following details ascertain the amount of subscription to be
carried to income and expenditure account for the year ending

31st December 2008.
Rs.

Subscriptions received during 2008 25,000
Arrears of subscription 2007 1,000
Subscriptions of 2009 received in

2008 in advance

(included in Subscription received) 2,000
Outstanding subscription of 2008 500

&G Qar®ssiiu’ (Herer eleurmaseiadmbg 31 4sbur 2008 yarnghsrer aure| Cawey
SETESHE FHHTENDSTS UTey MeusEGLD CFTansem HanTds (Hhs.

€.
2008 e Qupliul’ L ghsm 25,000
2007 & Mavewe Fhsm 1,000
2009 ssren sbsm 2008 6 (pesmanl_iq L

Qupliu’ L g

(sbsT AsTansuiled oL miflueTens)) 2,000
2008 samen GupLLl L shgT 500

3. A fire occurred at the premise of a trade on 31.5.2010 destroying his stock
heavily. His stock of 1.1.2010 was Rs. 30,000. The value of stock salvaged
was Rs. 6,750. The gross profit on sales was 30% and sales amounted to Rs.
76,500 from January to date of fire, while for the same period the purchases
amounted to Rs. 51,750. Prepare a claim statement.
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em & lugg em efwururflufer fLmdd 31.5.2010 jem HepbsE. NeuT FréE
1.1.2010 =yermy em. 30,000. sriurpoliul L &r&@ . 6,750. allpuemaruier Cwad Gwrss
@arub 30%. @eucuramged mereufl g § elugg prer euenguded ep. 76,500 &
dpuearnyd  ¢5.51,7505@s Qsrerpsand BLbgeTerg. @@ NusHE STUEL(HE
Carfldans Msamsuienars SwmtlsseyLb.

Find out the average due date of the following bills accepted by a trader
who wishes to settle them with one single payment.

Date of Bill Amount of Bill Due Date

Rs.
01.04.90 800 06.06.90
30.04.90 1,000 03.08.90
03.06.90 400 06.07.90
15.06.90 600 18.09.90

e eQwrurfl grom wrpmEs Hser @Cr seumanuiedy Qeqss5568 FrTail Seuement Hrepar
STEHSE ().

orom&Sl (H Csd  wrHmFF.(H CsTens Seuanent BreT

€.

01.04.90 800 06.06.90
30.04.90 1,000 03.08.90
03.06.90 400 06.07.90
15.06.90 600 18.09.90

Raj Shoe Company opened a branch in Madras on 1.1.2010. From the
following particulars prepare the Madras Branch account for the year 2010.

Rs.

Goods sent to branch 15,000
Cash sent to branch for :

Rent 1,800

Salaries 3,000
Other expenditure 1,200
Cash received from branch 24,000
Stock on 31st December 2,300
Petty cash in hand on 31st Dec. 40
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1.1.2010 ey grey smevadl  Blmeuand Qaamenaruded Hener gerenns Hnbsgl. SpoHseim_
eleurmisaiadl(mbg Cesmanars Haneruller 2010 b ET(HSETET HETENSS SUITTSS.

@.
Flenerd @ el sr&Es, 15,000
Flenerd @ el Qprésibd |
UTL a0 1,800
FLDLIGTLD 3,000
@1 QFeaser 1,200
Sanerudladmmbg QDD CFTEsLd 24,000
grad(miy (31.12.2010) 2,300
Seveveny Gymrésd (31.12.2010) 40
PART -B (4 x 15 = 60 Marks)
Answer any FOUR questions.
6. Prepare Trial Balance as on 31.3.2012.
Debit Rs. Credit Rs.
Return outward 64,000 Debtors 60,000
Opening stock 1,36,800 Carriage outward 20,000
Salaries 48,000 Capital 2,20,800
Creditors 1,92,000 Machineries 72,000
Bank 1,80,000 Return inward 12,000

Carriage inward 24,000 Discount received 16,000

Rent received 12,000 General expenses 24,000
Discount allowed 8,000 Sales 5,60,000
Purchases 4,00,000 Building 80,000
10,64,800 10,64,800
31.3.20121b <y amrigharer @mLLEF Cargananen Swmilés.
LHmI orb. QUTeY .
Qeuaflg SpLb 64,000 sLafbCsi 60,000
<} TOLI FT&S| (HLILY 1,36,800 Qeuefl grmmé 20,000
(AL WAL

FLDLIGTLD 48,000 wpased 2,20,800
sLTBCHTT 1,92,000 @uipdiyd 72,000
QumEIg 1,80,000 e erdlmLiLib 12,000

o o1 goM&Ftee Qevea; 24,000 seitenLly GQuHDE 16,000
cuTLeng GLDmg| 12,000 Qurgs Qgeweyser 24,000
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HEEHLIY  SOS555] 8,000 ellhuenen 5,60,000
QareTIpged 4,00,000 sLligL b 80,000
10,64,800 10,64,800

7.  From the following details prepare an Income and Expenditure account and
balance sheet for the year ending 315t December 2008.

Receipts and Payments

Rs. Rs.
To Balance b/d 500 By salaries 2,400
To subscription for : By General Expenses 600
2007 500 By Electricity 400
2008 2,000 By Books 200
2009 — 400 2,900 By newspapers 800
Sale of old furniture By postage 100
(costing Rs. 200) 120 By furniture 500
To rent received from
the use of hall 1,480 By balance c¢/d 1,000
To profit from
entertainments 800
To sale of newspaper 200

6,000 6,000

Additional Information :-

(a)

(b)

(c)

The club has 50 members each paying an annual subscription of Rs. 50
subscriptions outstanding on 31t December 2007, were
Rs. 600.

On 31st December, 2008 salaries outstanding amounted to Rs. 2,100
salaries paid included Rs. 200 for the year 2007.

On 1.1.2008 the club owned land and buildings values at Rs. 20,000,
furniture
Rs. 1,200 and books Rs. 1,000.

Epsaa elleurmigaied @ mbg 31 abur 2008—6 (piq UL LD p,6TiqDESTET 6u(HeUTL
Qaaellan semra@ wHmID @@L Hlane GHllemu swmilss.

QUIEYSET LDHMILD CFISSEOSHET HEmTdHE,

W W
@ Ly &/ Qar 500 FLDLIGTTRIGET 2,400
FHSTEHSET Qurgs 600
ALV
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2007 500 LSl GOTE LD 400

2008 2,000 LSS S bIEET 200
2009 400__2.900 CeuSggrerser 800
LIGHLOWI LDENGITE | 6namTL] sUTeD DFwey 100
QummeTaeT aNHmg)
Quiflw =emm LDENETS 500
2 LGWrSl&Se0l(mbg glenewTL
@ummerr
urL_end QubHDE 1,480 @iy c/d 1,000
Caatlsenssaet a0l (mbgl 800
QITLILD
Qelidggrer alpmgl 200
6,000 6,000

& (NSE) SSHEUCSET

(@) 2ps G eataurmeaumbd . 50 oaisb yarh gpsrelmer Qeauszin 50
Smssarsamer Hundlmesng. 2007 qsbur 31-a Hlaymel shgsraser em. 600
Qphse.

(<) 2008 g FLDOLIT 31—eb FLbLIeT UT&SlS Cgrens
eh. 2,100 <@, sbuemhiger OFagduig 2007-b yamgparear  200g o crem &8l
Qb5

(@) 1.1.2008e <=ipss G . 20,000 Qumrer Hloob sliqL miser en. 1,200 Gumomer
wenangglenanrl Gummlsear womibd . 1,000 Cumbrer Lsssmiser Cammbsoms
DUSHHHSII.

Mr. Mano keeps his books of accounts under single entry system. His

financial position on 31.12.2010 and 31.12.2011 was as follows.

2010 2011
Rs. Rs.
Cash 9,860 800
Stock 38,520 57,020

Plant and machinery 54,420 61,000

Bills receivable - 16,480
Sundry deptors 24,840 43,940
Sundry creditors 72,040 90,000
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Furniture 4,960 5,220

Drawings 5,000

During the year he introduced additional capital of Rs. 20,000 from the
above particulars. Prepare a statement of profit and loss account of Mr.
Mano for the year ended 31.12.2011.

. wGearm eramUeT FTG FMEE FHFMET DedDL USe| WD gl udld
ameuggleTerTi. jeumen_w HlF Hlanewens 31.12.2010 womib 31.12.2011 b Spement_u

@ UL LeTeu(mLmm).
2010 2011
- -
QyrésD 9,860 800
Fr&E (LY 38,520 57,020

Gurd womib @uipdrd 54,420 61,000

QumIEDHETw - 16,480

LrHmIEEL (H

UDLIG &L_eoTmer Gelt 24,840 43,940

uhLIe sLatbGHTT 72,040 90,000

SIMSEET 4,960 5,220

er(hly&er - 5,000
IBL_LILITGHTIq 6D €. 20,000 G (NBEL (LPSENED
SiGuIT SDpsLLIHSS e, Cop@dlindl

clleurmigeners Garearr® SHm. wGemm eremueutler 31.12.2011b prCerr® wpig-e)mid
< ar(H&E N Qeru Bl Sidlsamsamu St Qas.

9. Ramesh draw upon Vinod several bills of exchange due for payment on
different dates as under. Find out Average Due Date on which payment
may be made in one single amount.

Date of Bill Amount Rs. Tenure of the Bill

01.06.88 1,200 3 months
19.06.88 1,600 2 months
10.07.88 2,000 3 months
27.07.88 1,500 3 months
07.08.88 1,800 1 month
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15.08.88 2,400 2 months

NCanrg eremmucui FCLey eresieum g LOCeum wrHMES, Hemer LOCoum Feuamesnt
Brisefle) QesSs5555 oot Cr seumaruier CFNS555555 FTTET Seuenanr BHTaner
STSHE ().

wrHNEFEL(H  COsTens .  LIHOIFE (H SreLd

Caé
01.06.88 1,200 3 DTS BISET
19.06.88 1,600 2 DT BISET
10.07.88 2,000 3 DTS BISET
27.07.88 1,500 3 DTS mIGET
07.08.88 1,800 1 rsid
15.08.88 2,400 2 DTEBISET

10. Discuss the various methods of providing Depreciation.
Cawinrangdlen LieoGoum cuensseanar ellaurl.
11. From the following information, prepare departmental trading and profit

loss a/c for the three departments of Sharma Ltd.
Particulars A B C

Rs. Rs. Rs.
Stock 1.1.1996 4,00,000 3,40,000 9,40,000
Stock 31.12.1996 3,30,000 4,38,000 8,17,000

Purchases 19,59,000 6,97,000 13,73,000
Sales 40,00,000 20,00,000 40,00,000
Wages 7,28,000 30,00,000 2,46,000

Goods were transferred from one department to another at cost price as
follows.

(a) Dept B to A Rs. 2,400 and C Rs. 40,200
(b) Dept C to A Rs. 28,800 and B Rs. 18,000

(¢) Dept A to BRs. 3,000 and C Rs. 24,000
Apportion equally

Stationary Rs. 5,418
Postage Rs. 4,050
Other expenses Rs. 2,37,618
Insurance Rs. 10,080
Depreciation Rs. 32,598

7 UG-A-311



Rent Rs. 1,80,000 1s to be split in proportion to space occupied.
Dept A — 4, Dept B — 2, Dep C — 2 and other 2.
s Qarhssiul L eleurmsaicdmbg auor O g6T (pamm  SennsEhdsTe
eSlwrumy HMID @eru BLL & saursdanensd Suimflas.
eSlauymhiserT A B C
#7éE 1.1.1996 4,00,000  3,40,000  9,40,000
#78@E 31.12.1996  3,30,000  4,38,000  8,17,000

QaTeTIpseD 19,59,000  6,97,000 13,73,000
el LIen e 40,00,000 20,00,000 40,00,000
a6l 7,28,000 30,00,000  2,46,000

FTS@GSET (1 ewpuladl (BB D FewnsE Epsaart_aurn SiLdseillamauie wrHmliil L.
(=) gl B EGIE A & €. 2,400 LHOILD Css

. 40,200.
(=) gop  C  dpps A bg @ 28800  wpmd  geop
B & em. 18,000.
(@) son A (mba B &@® €. 3,000 LOHMILD C E1G)
5. 24,000.
Epssam_ Qewa|smars giannsL @ o eredle 19f&s.
eT(&IQumrmL Caeey ¢5.5,418
LT Cawe] ¢m. 4,050
@ a1 Qgee sar ep. 2,537,618
ST (H& Qeavey er. 10,080
CsWiorend Caae] eh. 32,598

aurLens @p. 1,80,000 gienmasEns@ LweaTU(BiSSID QLsdler Sjereneull QUTMISE
Epsaeam_ ojereller 19flGsab.

A - gon - 4 B - geop - 2, C - BB gon - 2
Yo @Lib 2.

12. Fancy cloths Ltd. opened a branch in 2007 at Delhi the following
information related to Delhi branch:

Rs.
Goods sent to branch 25,000
Sales :
Cash 10,000
Credit 18,000
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Cash received from debtors 16,000

Discount allowed to them 300
Cash sent to branch for 3,500
expenses

Stock on 31st December, 2007 4,000
Prepare Delhi branch account for the year 2007.

Guemendl giawfl Hlmeuemd 2007 ypar(h GLdelluller Hener gerenmsd Fmbsgl. ©Lcels
Slenarudlen eNLIFRIGET SDESEHTL_CUTD) 2 GTaTS).

.

Hleners@ e sr&@, 25,000
NpLeHer :

QyrésD 10,000

L6t 18,000
sLeamaflsaflLb Cubp Qrrésd 16,000
S|6UTS@EH&E UPBISLILILILL SLHl6 300
QeveillnaTs Slaners@ ey 3,500
QyrésD
aradmLly 31.12.2007 4,000

2007 1b Y er(HEETET GlL_cvedl Slenerd sanTdEanss Swmiles.
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UG-A-311 BCO-12X

U.G. DEGREE EXAMINATION - JUNE 2021

COMMERCE
FIRST YEAR
FINANCIAL ACCOUNTING
Time : 3 Hours Maximum Marks : 70
PART -A (3 x 3 =9 Marks)

Answer any THREE questions

1. What is bad debt?
QUM BHL 63T 6TEIIMBMTEL 6160601 7

2. Define bill of exchange.
rBpl FLG - 8 aIDJUBISHLD.

3. What is single entry?
QBMB LIG6Y (LPEMB  6T6MT6L  6T63T60 7

4. Write a note on ‘Effluxion of time’.
‘@srevld CUTHE’ UBN GBI QINTSH.

5. Explain the term Dependent Branch.
FTL HleM6N 6I6IMBT60  6T60160T?

PART -B (3 x 7= 21 Marks)

Answer any THREE questions

6. What are the objectives of accounting?

Hewid B UI606N GHToHBMIGBET WITene?

7. What are the features of consignment transactions?

Fr5@& UflauTdhHmensmellel DIDFMmIH6IT 6T6iT60 !

8. Explain the term ‘Average Clause’.

‘Fgma 11Mle)’ eTeiimmeL  6T60To0 ?

9. A owes B of the following sums of money due on the dates state. Calculate
average due date.
Rs.1,000 due on 1.1.2001, Rs.2,000 due on 1.2.2001,
Rs.3,000 due on 1.3.2001, Rs.4,000 due on 1.4.2001.

Hm. A seutdHen Hm. B-ulLib GuBs LsLBeuml HL 69 dHmEHH6NT

CamBasILL (Heiener. Qeumens Csmeni FImafl Helenswl [HT6IT SHTemwdH
H.1000 Hewemewt BHrem 1.1.2001 H.2000 Heuemewt Brem 1.2.2001
H.3000 Heuemewt Brem 1.3.2001 H.4000 Heuemewt bHrem 1.4.2001
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10.

The Kanpur Shoe Company opened a branch at Delhi in 1988. From the
following particulars prepare Delhi Branch A/c for the year 1988.

Goods sent to branch Rs.15,000
Cash sent to branch for expenses Rs. 6,000
Cash received from the branch Rs.24,000
Stock on 31.12.88 Rs. 2,300
Petty cash in hand Rs. 40

STYT o mpieuerd 1988-RQed OLs0edluiled @@ Hlensmenwl FHWHHSHI. LieTeuLd
alaugmisemel®mbal 1988-1b yemrgBHTen OLs06d Hlenelm Hewibend HWIMT CFUIS.

Hemend@ D@IULGBD CUTHL_ &6 ¢r.15,000
OF6v6)BEHHE HlemedbE DHEILILILIL L LIGwTLD . 6,000
Hememuiled Ebdl OB L LswID (m.24,000
31.12.88 oi6iim FraalmLiLy . 2,300
Fpl OHTensd (. 40
PART - C (4 x 10 = 40 Marks)

Answer any FOUR questions

11.

12.

13.

Distinguish between ‘Receipts and Payments Account’ and ‘Income and
Expenditure Account’.

QUBIBED CFNIHHED HEMMBHBEHID, AIHAUTUI GFevRIeT HEMBHBEHID 2 6o Gouml
UT(hEHem6T a6 E&Hb.

Differentiate between single entry system and double entry system.
QBB LFH6)Y (WdBHGLD, QI DL L6 (pewBH@GHD 2 6iTen GeumumhEHein Wimene.

Pass necessary journal entries from the following transactions.

March Particulars Rs.

1 Paid rent for the month 600
2 Paid cash for office stationery 60
8 Purchased office equipment on account 10,000
13 Paid advertisement expenses 600
15 Received cash from Kumar on account 8,000
18 Paid Maran on account 4,000
25 Withdrew cash for personal use 2,000
29 Paid telephone bill 600
31 Paid for repairs to type writers 300
31 Paid electricity bill for the month 400

Leiteupld BLeUgHmBHemeNn CaTemi(h oTTEF THSHSHBET GBILCUL L HWTT QFUIsm.

March Particulars Rs.
1 TS aITLmES CFVIHSH WIS 600
2 DIVIENEVE 61(RGHI OLITBEDSE CFIHIHUISHI 60
8 SIVIeNeVE OUITISIBET eUTRIE WG] 10,000
13 allembLy OF6v6E6iT OFeIGHH WIS 600
15 GomiLid OuBB OFTéhsid 8,000
18 LTBISHE CFaIHH WIS 4,000
25 Qamhe Chremeuds@ LWID 61(HHHH 2,000
29 OaTemevBud] &I Lewid OFeNHE WIS 600
31 SLLFH Qumpd uwad umTlyds@ CFaisHauig 300
31 TS OGIFTT S L6WID GCFedHIUIG] 400
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14. Vijayan maintains books on single entry. He gives you the following information.

15.

16.

Particulars 1.1.2001 (Rs.) | 31.12.2001 (Rs.)
Cash in hand 4,000 6,000
Cash at bank 2,000 4,000
Stock in trade 24,000 24,000
Furniture 6,000 10,000
Sundry debtors 20,000 25,000
Sundry creditors 10,000 14,000

He has taken Rs.4,000 from the business to meet his personal expenses.
Depreciate furniture by 10%. Prepare P & L A/c for the year 2001.

Hm.elluieht HegHl HenbCHBHHMEN MMM LIS (pewmuiled LFTIOfGHEHI 6umHSIMITT.
SIQIT HPHTEID HBAULHEMET  H([HBIMITT.

elleuyib 1.1.2001 (i) 31.12.2001 ()
& OITéasd 4,000 6,000
aUmIE QITéHaHID 2,000 4,000
FIHSHLIL 24,000 24,000
SIEM B HEV6N 6,000 10,000
ULy &L eomerflaeit 20,000 25,000
LUBU6eY &L el HOHTT 10,000 14,000

ST Heg 0FTHSH OFevayHEHHHTH 1H.4,000 HEHU GdBSHSTT. DwBHeve LWk 10%
Cauwiomend  BHHGBH.  2001-D  ewigel  GeOTUD  SILEVFHI  BLLSHHemenr ST (HLD
S sensullenand HWTT GFuis.

Aravinth and Brothers purchased a machinery for Rs.90,000 on 1.4.2001. They
spent Rs.10,000 for installation charges. But the machinery was brought into
use from 1.10.2001. It further purchased a machinery costing Rs.20,000 on
1.1.2004. Accounts are closed 31st March every year. Depreciation is to be
provided at the rate of 10% p.a. on written down value method. Prepare
machinery account and depreciation account for 3 years.

2001 guged 1 oeiim ogelbdh e LFsTed  @5.90,000 wHieTen  SuibHHTHMS
QUTRIBIDTT. DWH HBIYSHBETR  OFevayden h.10,000. ibH SuibdHrn 2001 &L muT
I, pH60 LWSTLUGSHIULL Gl DpBmiesnd 2004 memeufl 1, 6wl 6H.20,000 AL ILjeiTen
BEBTH QubHTHmEH eumhBwH. AT BCHTWID WITF 3160 HEIBGHB6T  (PIgdHd
Quuisemper. opewi® CaHmmid  Gxpulnmend  10%  @GHewmpbH  GFsd WA (pewpuisd
bHBIUL LS. SUbBEHT SHeubmdUD, BCHUIDTET — HWIHMBUD Py AT BHEHHE)
swimfldseLb.

Mehta Ram of Ram Nagar purchased goods for his three departments as follows
Dept X - 200 units
Dept Y - 1,400 units
Dept Z - 400 units at a total cost of Rs.5,100
Sales of the three departments were as follows
Dept X - 180 units at the rate of Rs.15 per unit
Dept Y - 1,500 units at the rate of Rs.18 per unit
Dept Z - 450 units at the rate of Rs.6 per unit
Other information about stock in the beginning was as follows:
Dept X - 100 units
Dept Y - 400 units
Dept Z - 60 units
Mehta Ram informs you that the rate of gross profit is the same in all
departments you are required to prepare Departmental Trading A/c
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17.

gmrd  pHEewy  CaFibsms CHHT JTD  HUFH  APSIBI  HOBBHEHHG — LleTeNHLOTH
QUITHL_H6M6NT  QUMRIGIGITIT.

gleop X - 200 SI60&HH6T
gleom Y - 1400 SI60@ 61T Oorssy OFevey p. 5100
N IVA - 400 S10&HH6TT

ApsiIml FHiemmaerMen elliBLiene LleieNHLOT®]

slewm X - 180 SvGHH6T - .15 M DVGHIBS
slewp Y - 1500 o0@F6n - .18 M DVGHIBS
Hlewm Z - 450 SeVGHFB6eNT - .6 B DVGHIBS

ST FIHB UL eleuImhiseT :

glewp X - 100 oG H6IT
glems Y - 400 Sv@&HB6IT
FIOB Z - 60 96L& BH6IT

QreHsy @eotu AFHIBHD  DiwaHH  HewpEeiad @6y wwrHflwres Smluens
G HsHT gmd 2 _MmEEnHE OsfelsHmrT.  @ser  SugliuenLulled  Hlewp  FIiT
QUMTHHH HeWIHmNH HUWTT CFUIS.

Prepare Receipts and Payments A/c of a club for the year ended 31.12.1999.

Particulars Rs.
Opening balance of cash 40,000
Receipt of entrance fees 8,000
Subscription received for 1999 16,000
Previous year’s subscription received 1,600
Paid salaries 2,000
Paid for miscellaneous expenses 200
Rent paid 1,200
Payment for Purchase of cricket balls 500
Payment for Purchase of cricket bats 1.600
Payment for stationery in cash 100

31.12.1999 o Ler (PYAIHLHH UeWIYBBHTEN @(H Hemllledn JFHISH6T  LOBBID
Qasmr@BLILeTe|HmeT HUITT CFUI.

efleuyid ()]
gL emSUTBLIL 40,000
BIOIPe| SLLGWID JEE 8,000
1999-&&160 &b EH61T 16,000
(PHMSW  YEMNYBEHTEN  FHSHT 1,600
FLDLI6ILD 2,000
By CFevass 200
QUTL 6D 1,200
HNBEBEL. LbBHIHMET GUTHIGHISHBHTEN FHL_L 6U0ILD 500
HfNBEBEL 1L DL HMmeT QUTHIGHIHBHTE HL_L 6WILD 1.600
61(1p&HI GUTHLSem6N UThIS OFeVIHSHIUI  LI6RILD 100

4 UG-A-311



UG-A-312 BCO-13

U.G. DEGREE EXAMINATION - JUNE 2021

COMMERCE
FIRST YEAR
BUSINESS ECONOMICS

Time : 3 Hours Maximum Marks: 75

PART - A (3 x 5 =15 Marks)
Answer any THREE questions.

1. List out the importance Economics.
QurmeTTSTTSHleT (PSSISGnSmS L lgwedlBImissT
2. What are demand schedules and demand curves ?
Camen 9| L susmeuorsar Lommih G&Hemeu eUEMETR|S6T 6T60T 60T ?
3. What are the importance of consumer utility ?
BISTGOMT LweTUTL lg6uT (LpSalLggIeiL 6TeuTeur ?
4. Write a note on: Price Discrimination.
allsmev UTEGUTH (5 GO cuemTs.
5. What is per capita income?
SeuflELIT GU(HLOMEUTLD 6T6UTMITG) 6T6UT6uT ?

PART -B (4 x 15 = 60 Marks)
Answer any FOUR questions.

6. Discuss about the scope of business economics.

susmtles QuTmeTTaTrSdlar Crrésn unml elleurdlésaiL.
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10.

11.

12.

Discuss the types of elasticity of demand briefly.

Caomeu CEdlped] aumasmer G mSaswTs alleurdlssea|L.
What are demand forecasting methods?

GCaemeu (euTSHemilliL] (LPEmMSs6IT WTemeu?

Discuss the law of variable proportion.

rll eldlgsdler aldl unml alleurdsaaL.

Describe the equilibrium of the firm under perfect competition
Hleomey gyEismy S Blmeuersdlar wflmamw alaiflssaib.
Explain the methods of pricing.

allsmev FliTemmn (pemmasener alleTs GmiseT.

What is national income? And state its components.

Cadlu eu(mLOTEITLD 6TEITMT6L 6T6UT6NT ? O|GH6wT &nmisemen GMILLIEIS.
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U.G. DEGREE EXAMINATION - JUNE 2021
COMMERCE
FIRST YEAR

BUSINESS ECONOMICS
Time : 3 Hours Maximum Marks : 70
PART -A (3 x 3 =9 Marks)

Answer any THREE questions
1. State the nature of Business Economics.

alenllas QUITHEMTHTTHH6N HesTenlodene GHBILILI[Hb.
2. What is demand schedule?

CHemeu SIL_L 616M6WI  6T6IMBT6L 61601601 ?
3. What is Marginal cost?

@mIz Blewev GF6ve)| 6I6HTNMBTEL 6l60T6N 7

4. What is Law of Diminishing return?

GmBHH 0Fe0 ellenerey ellg 6IeIBTEL 6T6dT6w ?

5. Define - Profit maximization.

60Tl SIFHHMIL - UHTI6VHHEWID  FH([Hb.
PART -B (3 x 7= 21 Marks)
Answer any THREE questions

6. Explain the scope of Business Economics.

auenlld  OUTmefluiedsn eTeLemevEmeT el  6T(1DSHISH.

7. What is substitution effect?

UHeSL B llenere) 6I6IMTED 6160160 !

8. What is selling cost?

alBLNe OF606)] 616IMTEL  6T6d60T 7

9. What is Public Enterprises?

QUTHISHHIDB  BIBIUGTRIHENT 6T6IIMBT6L 61601601 ?

10.  What is production Function?

2 BUHFH OCFweoLTH 6T6IBTeL 6l6dT6 7
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PART - C (4 x 10 = 40 Marks)

Answer any FOUR questions

11.

12.

13.

14.

15.

16.

17.

Discuss the concept of Break - Even Analysis.

gflgo ysn u@lurwielsner LB eilend@EHs.

Explain pricing strategies under different market situations.

usLBeuml Fhemd HevaITHAHL allensy HITewIUID QFUILID Wb BN 66T Edb.
Critically examine the law of Diminishing marginal utility.

Bmig mewev LweUT. B elglenw uBps elfleurs s1pdHIs.

Discuss the various objectives of a firm.

QM BoeuersHHlen LevGeauml GhTHEmIEHmen Fnyisb.

What are the factors determining the elasticity of Demand?

Cpemer QBAPFHenl HSTIOTNBGHID HTTemNEH6T UITenel?

Discuss the limitations of Business Economics.

alenlles QUTHeMwelled GemmUTBHM6T 66N EH%.

Describe the law of variable proportions.

oTwT SSHTEFFTIHSH6 aldenul alleufldss.
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UG-A-314 BCO-22

U.G. DEGREE EXAMINATION - JUNE 2021
COMMERCE
SECOND YEAR
BANKING THEORY, LAW & PRACTICE

Time : 3 Hours Maximum Marks : 75

PART -A (3 x 5 =15 Marks)
Answer any THREE questions.

1. Bring out the difference between Branch Banking and Unit Banking.

SHeme aUMIF (LPmBHGHLD WBMILD VG UMIS (PmBEHGLD 2 6o CoumiLTBEHein
GeueMaOEHTemIiT.

2. Briefly explain salient features of Banking Regulation Act 1949.
QMIFH6T QUEMIGUBSHHID FULID 194961 FBLILS H6NIDHN6N F(HHHLOTH 6N GHE.
3. State Banker and Customer.
QURISIWIT 1OBEBID QUTIQHENSBWITETT - IDTONeVHEHEMID  FH([Hb.
4. Discuss the Essentials of a valid cheques.
QM 0FLVHHEG HTCFTemeLUT DlgliLIeNL B GHBILLI(HS.
5. List the features of commercial Bank.
alelld eumIESUIeT @UisdLdemnem LI IQuiBs.

PART -B (4 x 15 = 60 Marks)
Answer any FOUR questions.

6. Elucidate the functions of RBI
AbsHw fairel sumigluien Lisnlsenen allondbEs.

7. Discuss the functions of commercial Banks.
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10.

11.

12.

aueniad aUmISIHeTen Lisnlldensm LB®I 61(LDSHIS.

Critically examine the Banker and Customer Relationship
QURISIWIT DBEID QITIQHMBWTONTET 2 Ba|peB GBlbs elalTdds
State the rights and duties of a collecting Banker.

AGIHEGD aumSWfer o MendeT BBID SLENISH6T GBILL 6T(HIS.

Explain the Quantitative credit control measures.

Sleneil B SiglienL_uileomes &L 6 SLBUUTL G (PpemBEHemeT BN 61(10&HISH.

Discuss the various types of Deposits in a Bank.
@ oumslullelr LsLGaum emeulilssl uBm elendd@s.
Briefly explain the organisational structure of RBI.

RBI uiesr siemwiiyfdwmer s Lenwoliiener LBY Sihobsons elenddd.
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U.G. DEGREE EXAMINATION JUNE 2021
COMMERCE
SECOND YEAR

PRINCIPLES OF MANAGEMENT

Time: 3 Hours Maximum Marks: 75

PART- A (3 x 5 =15 Marks)

Answer any THREE questions.

1.

Define Management. State the features of Management.

Gosomesitenio  6TENTLINS GUHTWBIHHI RNH6 Heienlodemen GBIULI[HS.

What is planning? State its importance.

FHLLIOL 6D 6I60IBIT6L 61631607  ERH (LPHBUHBHIONHMS FnBIb.

What is Departmentation? State its Advantages.

BHIHMBHET  DIMIDGHH6V 6IIMT6ED 61601607 EH6S HETeNIDHM6N G BHb.

What is Communication? State the communication process.

HBEUL OHTLITL| 6IeIBIeL 6T6dien? R Hedl OHTLITL GFwev(penmHen GBIULIHS.
What is span of control?

& IFH 6T606M6V 6T6IMBT6D 616160 ?

PART - B (4 x 15 = 60 Marks)

Answer any FOUR questions.

6.

Elucidate the functions of Management.

BGosumesitemouledr  Liswaenerm  aleul.
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10.

11.

12.

Discuss the various steps in Planning

FHLfLedenr LM LIQBensudHene a6 dEadb.

What is Decentralisation? State its Advantages.
MWINILGSHHIHED 6ITBT60 6T6iTe?  E)H60T HeiTenLDeN6N  6)l6TdhEHd.
Critically examine the Maslow’s Theory of Motivation.
orerv@eumelen 2amb@EHaldHHe0 CHTL LT Igenatll LBS a6 dsb.
Describe the various types of communication.

HB6U60 OHTLTLI6 LsLEaIBI SIMBHMNT all6NdhEH%.

What is Directing? State its importance.

BUIBGHFHE0 6IIBIT6L 6163607  RHET (LPHBWHBHIONHMS 6T EHd.
Explain the various techniques of Co-Ordination.

QRIS NETHH6VI6N LILBauml HIL LIBIG6T GHNlbHH elend@EHd.
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BCO-24

Time: 3 Hours

U.G. DEGREE EXAMINATION — JUNE 2021

BUSINESS STATISTICS

COMMERCE

SECOND YEAR

PART - A

Answer any THREE questions.

1. What you mean by statistics with business?

Maximum Marks: 75

LeTerMuTWweVIL 63160 eU6TIBID 6T6IILIGHET 2_60dhl HHBHH WTgHl?

2. What are the merits and demerits of mean?

LB Frrafuled HeTeNIDEET OBEBID GEOBUTHSET WITeneu?

3. What is Positive and Negative correlation?

CrT@n wBpID THTHB QL (hme)y 6IeIBTeL  6T6de ?

(3 x 5 =15 Marks)

4. Using three years moving averages determine the trend and short-term
fluctuations.
Year 1968 [ 1969 [1970 | 1971 | 1972 |1973 | 1974 | 1975 | 1976 | 1977
Production | 21 22 23 25 24 22 25 26 27 26
in tonnes
cpaipreni(h BH®HD Fyraflenw LweLbGsHs Curdd@ LBBIL GuISW GBS
SHTIDTEN .
2Aem1(h 1968 [ 1969 |[1970 | 1971 | 1972 |1973 | 1974 | 1975 | 1976 | 1977
2 _BUHS 21 22 23 25 24 22 25 26 27 26
DI6116)|H61T60
5. Convert the following chain base index numbers into fixed base index
1 UG-A-316




numbers:

Year 2002 2003 2004 2005 2006
C.B.L. 100 110 105 115 120
Weiteuplo OHTLT SiglienL. GMIuiL Gl ewrdenen Hlemeowimen HQUILIENHL
GBI 191 600TB6NTES  LOTBX):
2A6001(B 2002 2003 2004 2005 2006
C.B.L. 100 110 105 115 120
PART-B (4 x 15 = 60 Marks)

Answer any FOUR questions.

6. What is a data? Explain the different sources of collecting primary and
secondary data.
BHI6YH6IT 6T6HBM60 6160607 (LPFHENENLD LOBBILD ETEWIL MO [Hlenev  HJ6)H6iT
Crafigmarer GeousiCap PHTIHRIBMEN aleNHHaLD.
7. Find Mean, Median, Mode from the following data:
X (Less than 10 20 30 40 50 60
f 4 20 35 55 62 67
SpaTanid aleugmiseielmbs Fyrafl, QenLHenev, BEBID (WHBH S UWNBEDB HTE0ISH.
X (gophsun o | 10 20 30 40 50 60
f 4 20 35 55 62 67
8. Calculate coefficient of correlation and check whether it is significant:
X 22 24 38 35 69 78 46
Y 66 59 63 68 75 86 68
SpHMILUBBleNhHH QL bme] QHpalmer HambdBH.  CeId Sige
(WPEBWSHBHIOGHMS FHLMTSHS:
X 22 24 38 35 69 78 46
Y 66 59 63 68 75 86 68
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9. Fit a straight line trend by the method of least square to the following data
and also estimate the sale of 2013.
Year 2006 2007 | 2008 2009 2010 2011
Sales (Tonnes) 24 25 29 26 24
BFFm auTtds (wempulev @m CrTéursE CamiemL QuT®mHSH Gwewd 2013 o
2L60T1960T  eBLIEHETeNWIULD HIITH CFul.
21,6901 (H 2006 2007 | 2008 2009 2010 2011
alueHe (Ledidei) | 24 25 29 26 24
10.  From the following data construct an index for 2015 taking 2014 as base
Commodities Prices in 2014 Prices in 2015
A 100 140
B 80 120
C 160 180
D 220 240
E 40 40
LeiTeu@D HHeusuHemen Obment(h,2014 Spemienl. QLI WiTHd GsTemily 2015
ST (BHBTN GHBIUIL (B 6T DIENLDEHSD.
QuITHL_H6iT 2014 60 ellewsv 2015 60 e&llews
A 100 140
B 80 120
C 160 180
D 220 240
E 40 40
11. What are the various functions of Statistics?

3
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Yemefuwedeir LIsO@euml Liewlladei Wimene?
12.  Explain the meaning and method of calculating “Quartile Deviation".

HTEOLOTEN  6)l6VHBHID 6T6ILIGHE CUIT[HET LOBBID HeWIHHBID (LPenBenU a6 EHo.
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UG-A-317 BCO-25

U.G. DEGREE EXAMINATION — JUNE - 2021

COMMERCE
SECOND YEAR
MARKETING
Time: 3 Hours Maximum Marks: 75
PART - A (3 x 5 = 15 Marks)
Answer any THREE questions.
1. State the features of modern marketing.

Bele FhHensUIL6lel DDFHIGBMmeNT 66N Es.
2. What is product life cycle?
Qurmefer euTIDHMNS FHIPBI  6T6IMBT6L 616016017
3. State the factors influencing Buyer Behaviour.

QMRIGLT BLSHMSWIeN & HTHeD GFuiujn LsvGeaum Sryewisenens LB
G NINICE:

4. State the objectives of Pricing.
alensoui 606l CHTHSMBIGMET FnlBIb.

5. What is sales promotion? List out its advantages.
elBuene GbUT® 6T6iIBTeL 6T6iien?  EFH6NT [HETMIOHM6NT LI 19UIeS(Hb.

PART -B (4 x 15 = 60 marks)
Answer any FOUR questions.

6. Briefly explain the functions of Marketing

FhemeUILeller Lewlldeme &habaons  alleu.
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10.

11.

12.

Elucidate the steps in new product planning.

UHw QUTmHEMET 6IgaINIDGSH6l60 2616 LIQHens0Hen6l a6l @b,

What is market segmentation? What are the essentials for market
segmentation?

Fhend LGLIL| 616MmTeL 6l6iien?  EQHMBBMEN SHQUILIEHL H6iT WITemen?
Enumerate the different types of channel policies.

usLBaIm QIPEIBEL eulfl ClbmeTenddemenll LM 6l6Td @ .
Discuss the various types of pricing.

alensouiL6del LLCIMI eUmBHM6N alleuil.

Explain the Benefits of Advertising.

eMbLITHH M0 JBLBLD HEEDLOBHENET  e)l6TdhE)b.

Critically examine the elements of an Advertisement copy.

Qm olembuy BEHeJen gl Fapibenen LBN efeursldbs.
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U.G. DEGREE EXAMINATION -JUNE 2021

COMMERCE
THIRD YEAR
COST ACCOUNTING
Time : 3 Hours Maximum Marks : 75
PART - A (3 x 5 =15 Marks)

Answer any THREE questions.

1.

Define Cost Accounting. State its objectives.

IILHFHNN60H  HEHFHUIETET  UMTAIVHDHEWID  H([Hb. FH6N  GHBBCHMeiTHMmeN

G EINICES

How do you determine average stock level?

gynafl FyoHamiy Dlenellenen ereleumm gromelliumui?

What is Break Even Analysis? What are its assumptions?

BTLLLOBB Hlemev LIGLUUTUIS| 6T6TLIGI 616060 ? Dighedt 61(HGHMeiab6T Wimemeu?
Calculate the reorder quantity from the following particulars.
Annual Usage 20000 Units

Buying cost per Order Rs. 10

Cost per unit Rs. 100

Cost of carrying Inventory 10% of the cost

SPHTEID aleuJmiselled GQMmbH OB UMW DieTalleneid HenT s [BHdb.
QR eurgBaTes Liweur® 20000 Si6v@& 8611

R(H AW HBTE OBTET(LPHL allensv ¢h.10
Q(H VBT DILHHD H.100

FI5G gBmF QFeoanld OFeve L& alemsouisd 10%
State the advantages of perpetual invent any system.

BlemevGUTHeT @I (pedBUlel HeTenodeT GBIULIGHE.
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PART-B (4X15=6- Marks)
Answer any FOUR of the following

6.  Describe the features of Process Costing.

LIgmlensv  demtdbaluiluiedsir GuisoLsenet  ileul.

7.  From the following information prepare a Cost Sheet for the month of

January.
Rs.

Stock of Raw materials Jan 1 30,000
Stock of Raw materials Jan 31st 32,000
Purchase of Raw materials 28,000
Carriage on Purchases 1,400
Sale of finished goods 88,000
Non Productive wages 9,000
Direct Expenses 22,000
Factory O/Hs 9,500
Admin O/Hs 4,200
Selling O/Hs 4,800

BlpHewiL alleuImiseled QmbdH 2eveufl THD DiL_HHelens0 LI IQuiensd SUITT GFu1sH.

€.
apeulIOUITHeT @iy oereufl 1 30,000
el IGLITHeT Gl 23evmeufl 31 32,000
QUTMRISIW  eLP6OLIGILIT (6T 28,000
CBTUPSHE SMHE Fmel 1,400
QuTEhsiT elBLIEHE 88,000
o BUSHH FTTHS el 9,000
GBIy Fnelsel 22,000
Camimamt GBeFsve) 9,500
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Bliteurs  GoBoFevey 4,200

alBuensl BB GF6ve) 4,800

The sales and profit during the two years were as follows :

Year Sales Profit
Rs. Rs.

2008 1,40,000 15,000
2009 1,60,000 20,000
(a) Calculate :
(a) P/V Ratio
(b) BEP

(¢) Sales required to earn a profit of Rs. 40,000 and
(d)  Profit when sales Rs. 1,20,000

alBuene LOBBILDL @0 elleufld S YT (HHEHHHTeen6Y  LisieuHLOTMW).
QL  alBusmer  GeoTuLd
(T .
2008 1,40,000 15,000
2009 1,60,000 20,000
HeTd DB

(o1 @6oTLI-Si6ney &S
(=) S6OTL-BL L IOBMB  [Hlen6v

(®) .40,000 @eomud F L ChHemeuwimer alliLemeor
(") e5.1,12,000 elBusmemuied mL(BWD SeVTLILD.
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9. A company has 4 departments. The following are the expenses of the
departments.

Rs.
Rent 1,000
Repairs 600
Depreciation 450
Light 100
Supervision 1500
Plant insurance 500
Employees insurance 150
Power 900

The following data are also available:

A B C D
Area (sq.ft) 75 55 45 25
Total wages in Rs. 4000 3000 2000 1000
No. of workers 12 8 6 4
Value of Plant Rs. 12000 9000 6000 3000

Prepare a statement showing the apportionment of cost to the various departments.
Also calculate the departmental rates of recovery, as % of direct wages.

BIIE — HIOBH6T  OBTWIL @ HBDIDHH — HwBHEHHET  UBTHMIY — OF6v6H6IT
LNedTeu(HLOTm:

GUTL 65 1,000
LI SILITT HFH60 600
GaUuIpmenid 450
a6 & 01F606) 100
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GoBLimiTen6 1,500

hFHTD - HTILIH 500
uewiwimenT - &mlLi®h 150
el OF6v6) 900

BIPHWIL GNJHIBEHHBID 2 6mi(H.

=2 =0 o) FF
QL oene] (F.919) 75 55 45 25
QTHs 6l (a5) 4000 3000 2000 1000
Qg mifleomernit eTeviTeuuNdema 12 8 6 4
@ubHTRGT WHIY () 12000 9000 6000 3000

L60 HIMBEHEHHE OFeveydensn USITeY GFuigH omldamsd swnfdssab. Gy gnweduler &L
al&BHHHe0 CopoFevasellen alldHHmed SHewIBLIG.

10.

The output from process I totaled 5,000 units. It was considered that 400 units
were abnormally lost. Normal loss allowed was 10%. The other information are
as follows:

Material @ Rs. 100 per unit
Labour Rs. 80,000

Over heads Rs. 1,60,000
Wastage realised Rs. 50 per unit
Prepare Process Account.

g - I e HlenmpeyBm QuT®BL &6 5000 DVGHHB6T UGHW. Rd6d 400 DIVGHH6I
DIFTHTTN BLLIOTGWD. FrHmyent BULID 10% @dbsHis0sremeniubGasma. Gosib
BB MeUTBIB6T CBTHHBLILIL (H6IT6r6.

SFFTI QUTBL BT VG Q@SB eh.100

2 enipli ¢5.80,000

BGoBOFeva|®H6IT (m.1,60,000
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efemrment QUITHLS6IT PVl VG Q@MIMBE .50 aisd GLUBLILILL .
g Semisbemdd SHUTT CFuis.
11. Calculate material cost, price and usage variances.
Standard cost — Rs. 4 per kg
Standard quantity — 20 kg
Actual cost — Rs. 4.50 per kg
Actual quantity — 24 kg.
ApeOLIOUTHET SILSH&HID, elensv, LWeUTH CoumumBaHenst Hewldbd [BHb.
B ILHHD - (4 HGeor RIMIHE,
&J uweur® - 20 &Geor
2 eenlD SILSHD - H.450 H6eor QeIBIHE
9 _ewlenlD Liweum® - 24 &Gsom
12. Explain the advantages and disadvantages of operating costing.

QaweoLT (B SILSHHalmeoullsl BTN BMID HenLH6T allsuil.
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UG-A-319 BCO-32

U.G. DEGREE EXAMINATION — JUNE 2021
COMMERCE
THIRD YEAR

COMMERCIAL LAW AND INDUSTRIAL LAW

Time : 3 Hours Maximum Marks : 75

PART - A (3 x 5 = 15 Marks)

Answer any THREE questions.

1.

Define a Contract.

B PUUBSSHMS U] WIBISSE]LD.

State the duties of bailor.

UUmLe| GFuiuefler SLenwdemen GNILLIHES.

Distinguish between sale and a hire-purchase agreement.

AIBUMIEGID - UTLNS OBTENLPHD QLILBSHHHBGHD SBewLuled 2 6iten CoumimBHHei
wimemey ?

What is a factory?
QM OBHTHBFTEN60 616IIMBTEL  6T6560 7
What is ‘Partial disablement’ under Employee’s Compensation Act 19237

oanpluiTeefenr @OUT BF FULID 1923 @61 S UGS (PLSHFHID 6I6IMBI6L 616560 ?

1 UG-A-319



PART -B (4 x 15 = 60 Marks)

Answer any FOUR questions.

10.

11.

12.

Explain the essential elements of a valid contract.

QFLILQUITGLD QUUBSHSHBH6N ASHSHWTeuFl Fapisenet alensdd:s.

What remedies are available to an aggrieved party on the breach of contract?
RUUBSHHMS BpIeNsH GB¥SHH UTHUUMLbHSH SIUINQIHESE 6l HTeydHel 2 eitermen?
Discuss in brief the rights and duties of buyer.

ammi@Ueuflell 2 Menosel LOBBID HLeWEH6T LB &FHHSW0TE aleufl.

Write a note on various welfare facilities provided for workers in Factories
Act 1948.

CaTIBFTEN6VHT FLLLD 1948360 QHTIPLTENTHEHHEG UPMISILL L LIsvGsuml Hev
UFHH @SS @h GBUML DS

Describe in detail how compensation amount are calculated for different
disablement under the provisions of employees compensation act 1923..
oanpluiteefenr @i BF FU b 19236 algsefen Hp GeusiGaim 2mearpBEBTHHESE
Qi (s OFHTens eeuauTy HeibHLLLGEBH e6ilmngd alfleurs allsufl.

What is an industrial dispute?

OHTPEOHINMB HBTTWI 6TABTED 61607607 ?

Discuss the powers of E.S.I. Corporation.

E.S.I. srmiuGregefer oigsmymssner LBl efsufl.
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U.G. DEGREE EXAMINATION — JUNE 2021

COMMERCE
THIRD YEAR
ADVANCED ACOUNTING
Time : 3 Hours Maximum Marks : 75
PART- A (3 x 5 =15 Marks)

Answer any THREE questions.

1. Write a note on Joint Life Policy.
&L B eaumpdmad STITH uBp Anl GBI almTs.

2. What is “Forfeiture of shares?”
UmRIGSHem6T LIBI(Lp&He0 QFUISH60 6T60MmTeL 6160160 ?

3. Raman Ltd., agrees to purchase the business of Krishnan Ltd., on the
following terms:
1. For each of the 10,000 shares of Rs.10 each in Krishnan Ltd. 2 shares
in Raman. Ltd., of Rs.10 each will be issued at an agreed value of Rs.12
per share. In addition, Rs.4 per share cash also will be paid.
2. 8% Debentures worth Rs.80,000 will be 1ssued to settle the Rs.60,000,
9% debentures in Krishnan Ltd.
3. Rs.10,000 will be paid towards expenses of winding up.

Calculate the Purchase consideration.

grsst oA, &Hmagewsst OGO  euemiasHmad Llaeimd  elg1psmmseied  aImmbis
QULSOBTETSBSI.

1. Hmagewien OGO 1960 @mBHGWD .10  wEHlgeiten 10,000 URESBE LD
OGO L 1g6d  ¢h.10  WFeiTen  URISensd (.12 eupmIS (1P|  QFWIWILILIL (BH6TeTg.
WamBHOTS @ LRSBEG CImoHsd dhd eupmisluBLD.

2. Fmagewisd OGLL Bpleuendsdled ah.60,000 9% SHL6T USHTRIBNEN HThs 5.80,000

W&Hieien 8% HL 60T LHHJHIBEM6T UPHBIGLILIBLD.
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3. pHmeuensHe demevlil] QFeve] .10,000 CFTHaE aupBISLILIHGLD.

A6 gl uied QHBM6TIPHL llenevenil HemIdbE (Hdb.

4. Calculate liquidator’s remuneration from the following particulars:
Assets realized Rs.6,30,000 including cash balance Rs.30,000, Liquidator’s

remuneration at 2% on the assets realized.

Heaumo  eleughiseilsd  QmbaH  HHOUTHMSH HMeVHH  BUbdSIULL  Digsmiluller
2 HIGHMSH HEIHD HSH.

CaTsHgIbHEmen alBmaHed GUBLLLL OHTend 05.6,30,000 (Qrrédsd 030,000 GaFiTdHa)
CarsHsibsmen alBm GuBLLLL CIréshadlsy iFeriuler 2agdund 2%.

5. On 01.01.1986, X purchased machinery on hire purchase system. The payment
is to be made Rs.4,000 down (on signing of the contract) and Rs.4,000 annually
for three years. The cash price of the machinery is Rs.14,900 and the rate of
interest is 5%. Calculate the interest in each year’s installment.

01.01.1986 X euTLend OHT6TpSH60  (WeBuled SUIHATHIBMET MBS UIS). B L_6wiIlD
.4,000 (QUUBSHHH0 MBOWWSHHILCUTH) OBBID UG SLLWID 3 UeIBHBEHES,
H6om h.4r000. @b rhiseles QIThs alemev @h.14,900 wBBID eu'lg eNdsD 5% BHen

SllienLuled @eIGeuTm WG &L Gouswiiguwl sul lgenl HewIdhd(Bb.

PART -B (4 x 15 = 60 Marks)
Answer any FOUR questions.

6. What do you understand by “Garner Vs Murray” rule?
“Garner Vs Murray” -ei1 eldenws elend@s.

7. Define Share. Explain its types.

LRISI6T  euengelleudsdenild 61(1pdHl. LILGamI euenswimen Likigdensn oo

8. M Ltd. and N Ltd. agreed to amalgamate on the basis of the following
Balance Sheets as on 31.03.1997.

2 UG-A-320



Liabilities M Ltd. N Ltd. Assets M Ltd. N Ltd
(Rs.) (Rs.) (Rs.) (Rs.)
Share 75,000 50,000 | Goodwill 30,000 | -----ee-
Capital
Rs.25 each
Profit & 7,500 2,500 | Fixed 31,500 38,800
Loss Assets
Account
Creditors 3,500 3,500 | Stock 15,000 12,000
Depreciation | ----- 2,500 | Debtors 8,000 5,200
fund
Bank 1,500 2,500
86,000 58,500 86,000 58,500

The assets and liabilities are to be taken over by a new company formed

called P Ltd., at book values.
equity shares of Rs.10 each and 10,000 9% preference shares of Rs.10 each.

P Ltd’s capital is Rs.2,00,000 divided into 10,000

P Ltd., issued the equity shares equally to the vendor companies and apreference

shares were issued for any balance of purchase price.

Pass journal entries in the books of P Ltd., and prepare its Balance Sheet, if the

amalgamation is in the nature of purchase.

M Ltd. wsmi N Ltd. 31.03.2997 GxdHulsi g Lleieumd  SHLiLEenevsH6r 6

SlgliuemLuiled QeiipSlenentdd L IL|d0EHT6NTL 6.

QurmItILs®6IT

M Ltd.

N Ltd.

OFTH 15 H61

M Ltd.

N Ltd
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() (@) () (®)
LB (LPEVSHEIILD 75,000 50,000 | BHBOLWIT 30,000 |  -----ee
HEOT (.25 AL
@eoru /Bl 7,500 2,500 | Blsnsowimen 31,500 38,800
BB E, CFTH 15 H61T
BL6H CULDBIGBITB6IT 3,500 3,500 | TdSlmiy 15,000 12,000
Gpuwiomew mH | .. 2,500 | sLeumelBeT 8,000 5,200
SBI) 1,500 2,500
86,000 58,500 86,000 58,500

QFTHHIGH6T BHID QuTpIiLEeT Ubss wdilsy P Ltd. eem ysdw Boeierndsreo
MBWBLILGHBILIL 2 sitenienr. P Ltd e epsoshend @.200000, &eor  H.10000, eh.10

WHIIL6TEN  FTHTJ60T  LURISTHD, oBmid 10,000, .10 walysiten 9% (weraniflenio
ukisTEeD LINsslu Berengl.  elBusner Bueuaissng P Ltd, srtsmyem ukigsamen
FIOOTHAD, BHHG (WeTenlflenid LIMIGSHmeNUD aIpRISIWIS].

@sar omgliuemLuley P Ltd yssssslsd @Pubud wBmid SoliyBene @il
Wt CgFu1s.

9. From the following information relating the Lakshmi Bank Ltd., prepare

the Profit and Loss account for the year ended 31.12.1987.

Particulars Rs. Particulars Rs.

Rent received 72,000 | Salaries and 2,18,800
allowances

Exchange & 32,800 | Postage 5,600

Commission

Interest on fixed 11,00,000 | Sundry charges 4,000

deposits

Interest on savings 2,72,000 | Director’s fees & 16,800

bank accounts Auditor’s fees

Interest on overdrafts 2,16,000 | Printing 8,000

Discount on bills 7,80,000 | Law charges 3,600
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discounted

Interest on current 1,68,000 | Locker rent 1,400
accounts

Interest on cash credits 8.92,000 | Transfer fees 2,800
Depreciation on Bank 20,000 | Interest on loans 10,36,000
property

Weteupo  elleugmigsefeombal  31.12.2987  oyewngedt  evaldl  eumid  eIOGILL 196, EY60TL

BLL H0IHNS HWTT GFUIs.

alleuyLd (. aleuyLd )
L& GUBBE 72,000 | gbuemd LOBGID 2,18,800
QBTHLILIGITEN6) &6
ufleTgsamen BBID SIS 32,800 | Humed 5,600
BlemeoWITe  eDEULIL|BSHT6N 11,00,000 | 857F Ggeveyssit 4,000
6L 19
GO Bemidbaslen ULy 2,72,000 | BWESHBT LOBBILD 16,800
6001 &6 &b ULIT6TIT 60T
&L_L_600TLD
GuoBsuenywim LB Lgmen 2,16,000 | 2458 GlFeve) 8,000
a1
78S ST HeiTEmnLIY 7,80,000 | FLL Glgevey 3,600
BLLL|  &60018E 3 (6THE ST 60 1,68,000 | 60T&HBT 6UTL DB 1,400
eUL 19
Qrebsd  &L&T  LBHTe 8.92,000 | UflorBB S L ewilD 2,800
6L 19
QUM OaTsHa LN E] 20,000 | BLTBEDHSHETERN QL LY 10,36,000
GsUILDmenid

10. Distinguish between Hire purchase system and Installment system.

QUTLNS OBT6T(PH6L OBMILD HEUHEWT (LPSHBENLD Y&HUIUBeNB  CoumILIBhHHIMIH6N
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11. Mr. P purchased 4 cars for Rs.14,000 each on 01.01.1992 under the hire
purchase system. The hire purchase price for all the 4 cars was Rs.60,000 to
be paid as Rs.15,000 down payment and 3 equal installments of Rs.15,000
each at the end of each year. Interest is charged at 5% p.a. The buyer
depreciates the car at 10% p.a. on straight line method.

From the above particulars give journal entries and relevant accounts in the
books of Mr.P and in the books of hire-vendor.

Mr. P 4 &niwenen seor  @5.14,000 &@ 01.01.1992 @& aIlLend GCHmempsHed
Wempuiled &SI QUTRISIGITIT. 4 UTHOHIBEHHGHID QTLmE CBTeT(LpHed  6llenev
5.60,000. SHPLYHMD CFNHHIHEO -UH H.15,000, OBWID 3 FI0 Heuenewiseilled Heom
.15,000 Ead  @eIbeuT  PeWIBHID  aUPEISIUGID ey  FHeisld 5%  p.a.
QAMRIGUIT  auTdsaIbHBaETen  Chuiotansmads  CrTCaTB  wewmpulst 10% p.a.
& 60188 (HBIBMTTH6NT.

@Lofi3 e 6T eNleugmhisem el Hbal Mr.P L& SHBMmIB6MeID LOBEID QUM 6N
alBueneTwITenfledl LHHBmEeMed GBLUCUB wBmID RHT HewbGHHMeN SHWTT CFUISH.

12. The Life fund of a Life Insurance Company on 31.3.2006 showed a
balance of Rs.54,00,000. However, the following items were not taken into

account while preparing the revenue account for 2005-2006.

Interest and dividends accrued on investments Rs.20,000
Income tax deducted at source on the above Rs. 6,000
Reinsurance claims recoverable Rs. 7,000
Commission due on reinsurance premium paid Rs.10,000
Bonus in reduction PF premiums Rs. 3,000

31.03.2006 oieoimI U6l MU B HolieuebdHer pulell B 0H.54,00,000 S mrisnu
BHMLIQUI|. @@ilenid  2005-2006 S0  EWNGBHT  Hewlbend HUmflde Curg
Leiiupld 2 HLLIGSH6T Henibdled 61BHHIH OBmeTeniiLL6lsuenev.

WHSBHBEHHEG FLLIULL 61y WBHID FeHeHTmaEs ¢5.20,000
auLoTeell &0 aHe0 ¢H. 6,000
w@IETIN G 2 fennwGsryed . 7,000
6 UG-A-320



wpsTUf G Ufidwb OFaudbs BCelswngul HLolagesr (5.10,000
Ufblwhissner @GenplugbBamen GLmemerd ¢ .3,000
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U.G. DEGREE EXAMINATION - JUNE 2021

COMMERCE
THIRD YEAR
AUDITING
Time : 3 Hours Maximum Marks : 75
PART - A (3 x 5 =15 Marks)
Answer any THREE questions.
1. Write about the scope of internal audit.

2 61 FHewldemauler UFiL uBp eT1pgIs.
2. What are the general points to be considered at the time of vouching cash
transactions?
Qrrebs BLoNQSHMBHMN FTail PUuley OFLLDLEUTH SHHHe0 Osmeiten Geueurgul
QUTHIS FnmIB6T WITeneu?
3. What is capital reserve? What is the role of an auditor regarding capital
reserve?
WP HeVend HMLIL| 616IBT60 6leiien?  (PHeVlends ST FLOWHBHIONSH 6(h
HeWN HENBWITONTE LIMI@ 6165607
4. What are the special considerations in company audit?
HBILSHHemlHmBUITCLUTH BHBHHeL CsmeTen Geouswnguwl FHABLLS FnmIBH6T WiTensu?
5. Write about the legal position of the auditor of a company.

QM HBIwsHeldenswimenfler &L e Blensvenwll UBMl 61(p&Isb.
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PART -B (4 x 15 = 60 Marks)

Answer any FOUR questions.

6.

10.

11.

12.

Explain the Objectives of Auditing.

HowibendUllern ChToHsmIsemen allend .

What are the generally accepted auditing standards?

QuUTEHIUTS GJBBIBOBTETEMILL L Henlldbemebd HIHMEVH6IT WTeneu?

What are the points to be considered by an auditor while vouching the
payments side of cash book?

Qrrés 6L 196l CFaVIHHIGHVH6T LUbSHHmeS FIBIUIe CFUILIDCUTH @M
HeWNHENBWITONT BHHHE0 O\BMeiTenCGousmigul FnmidesT Wmeneu?

What is the role of an auditor in the verification and valuation of the

following?:

(a) Good will
(b) Patents

(c) Trademarks

LeireumeusiieuBensnm FAUTTHSHL wBmIDd WwHUIIGH0 @ Hewldmawmenfler LMIE
61601601 ?

(o) BHOLWT

(=) sriyfleninaseit

@) EHs WHHMISHT

Explain various methods of providing depreciation.

Capulomed HemIdbHBID LVEIMI (LPeMBHEMET  6)l6TTd: G 5.

What are the powers and statutory duties of an auditor?

QM HewlbensWTenfler DSHBTIHRIS6T OBMILD FULFHWITEN HLemDEH6T WiTene?

Explain objective and classes of investigation.
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algmrenswruiedr LisLGaum GpmToHasd WwB@ID Lfasener alendds.
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U.G. DEGREE EXAMINATION - JUNE 2021

COMMERCE

THIRD YEAR

INSURANCE
Time : 3 Hours Maximum Marks : 75
PART - A (3 x 5 =15 Marks)

Answer any THREE questions.

1. State the features of Insurance
ST 196t Hettewiosensm G Bs.
2. State the role of intermediaries in insurance.
ST 1960 BeWL_HHTHTH6MeT Libislenand GnILILIGHS.
3. Write a note on annuities.
UTBHOHTMS LBBl SOILL 6110SIs.
4. Write short note on: surrender value.
Ap@iy e11pHIsH: @UUENLLIL] LOgIIL.
5. What are the three major types of marine insurance?
&L 60FTT ST 19681 clP6iIml (LPHBUI QIDBHMEH  Fnllb.
PART -B (4 x 15 = 60 Marks)
Answer any FOUR questions.

6. Explain different kinds of marine perils.
UsUBauml BLEOVFTT G TH6IT 66N EHdb.
7. What is life insurance? How it is differ from general insurance?
et STOEH  eTemBTe0  6l60T6N? SiFH ety QUITEISTILTL 1960 HbhE
CaupiLpamaHI?
8. [Explain the factors affecting calculation of premium.
MWD HemsHHelend LUTHHGHD STYemllaseT Wmenel?
9. How claims are settled in Life Insurance?

Sule ST 1960 Comildbemadsit sieleNTml ST LILIG S eTmen ?
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10. What do you mean by risk? Explain the determinants of risks.
G TH6IT 6T6IIMTEL 6T6060 7 DIHWENd HTOTNBGD SHryeniast LM aleurfl.
11. What do you mean by lapsed policy? How do you revive it?
HTEOTOUSHWITEN SHILLTOUGHILD 6T6IMTED 6T660 7 DIFHemed eTedeuTml L I iumui?

12. Explain the powers and duties of IRDA.
IRDA afleit oif@mymisemenu]b oBHID SLendamenun UBnf elleu.
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